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Which one of the following was introduced
with the coming of British art in India during
the colonial period ?

(1) Mural art
(2) Oil painting
(3) Perspective

(4) Miniatures

Around 2000 years ago, Varanasi was a
famous craft centre where Shrenis were

(1) Buddhist monasteries.

(2) associations of craftspersons and

merchants.

(3) iron ploughshares used for agricultural
production.

(4) coins that have designs punched on to the
metal.

Consider the following two statements, A and

B, on manuscripts and inscriptions and choose

the correct answer :

A. Manuscripts were usually written on
palm leaf or on the specially prepared
bark of a tree known as birch.

B. Inscriptions were written on relatively
hard surfaces like stone and metal.

(1) Both A and B are true
(2) Both A and B are false
(3) Ais true and B is false

(4) A is false and B is true

Which one of the following was the language
of administration under the Delhi Sultans ?

(1) Persian
(2) Hindi
(3) Arabic
(4) Urdu
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In Buddhism, Bodhisattvas were

(1) Persons who attained enlightenment.
(2) Chinese Buddhist pilgrims.

(3) Buddhist scholars.

(4) Statues of Buddha.

Which one of the following was not the
condition to become a member of a Sabha in
the Chola Empire ?

(1) They should be between 25 and 70 years
of age.

(2) They should have their own homes.

(3) They should have knowledge of the
Vedas.

(4) They should be owners of land from
which land revenue is collected.

The Rowlatt Act, 1919 was opposed because

(1) it gave right to separate electorates to
Muslims.

(2) it disallowed Indians from possessing
arms.

(3) it curbed the Fundamental Rights like
Freedom of expression and strengthened
police powers.

(4) introduced dyarchy in provinces.

Many of Chanakya’s ideas were written in a
book called the

(1) Atharvaveda

(2) Yajurveda

(3) Dharmashastras
(4) Arthashastra

Garbhagriha, the most important part of some

of the earliest Hindu temples, was

(1) the place in the temples where people
could assemble.

(2) caves elaborately decorated with
sculptures and painted walls.

(3) the place where the image of the chief
deity was installed.

(4) the place where religious rituals were not
performed.
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Which one of the following grasslands is the
homeland of Native Americans ?

(1) Steppe
(2) Pampas
(3) Velds
(4) Prairies

Breeding of fish in specially constructed tanks
and ponds is known as

(1) Pisciculture
(2) Horticulture
(3) Sericulture
(4) Viticulture

Bering Strait is a narrow stretch of shallow
water that connects

(1) Pacific Ocean and Atlantic Ocean

(2) Aretic Ocean and Pacific Ocean

(3) Indian Ocean and Pacific Ocean

(4) Atlantic Ocean and Indian Ocean

“On 215¢ March and 23" September, the
whole Earth experiences equal days and
nights.” This is because

(1) Direct rays of the Sun fall on the equator
and at this position, none of the poles is
tilted towards the Sun.

(2) Direct rays of the Sun fall on the Tropic
of Cancer and at this position, one of the
poles is tilted towards the Sun.

(3) Direct rays of the Sun fall on the equator
and at this position, one of the poles is
tilted towards the Sun.

(4) Direct rays of the Sun fall on the Tropic
of Capricorn and at this position, none of
the poles is tilted towards the Sun.
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What kind of language needs to be used in
Social Science teaching ?

(1) Representative of dominant groups

(2)

Discriminatory

Neutral and sensitive

(3)

(4) Difficult

Projects on democratic institutions could be
done to show that

(1) they can be analysed to identify features

and challenges.
(2)
(3)
)

they are, as described in the textbooks.
they are ineffective.

students must accept these institutions
as they are.

Summative assessment is inappropriate for

the following :
(1) Deciding upon the grade
End of the term assessment

(2)

(3) Monitoring the progress of

teaching-learning process

(4)

Summarising student learning

What are pie diagrams useful for ?
(1)
(2)

Showing features of a historical period
Comparing different amounts

(3) Showing a particular amount in relation

to the whole

(4)

Showing a pattern
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(37)

E

Each chapter of the History textbook for|65. & VI sfasm & qSH-9ET% % JIF U8

class VI is introduced by a young girl or a boy.
Why do you think this strategy has been
adopted by the textbook makers ?

(1) To show boys and girls can study history
(2) To evaluate the content of the chapter

(3) To inculcate a spirit of enquiry and
discovery in students

(4) To show how introduction can be done

“You are a peasant in Alauddin Khalji’s or

Muhammad bin Tughlaq’s reign and you|ge

cannot pay the taxes demanded by the Sultan.
What will you do ?”

In the above question what is being
encouraged ?

(1) Historical imagination
(2) Importance of sources
(3) Respect for culture

(4) Importance of literature

At the upper primary stage, Geography and | 67.

Economics together can help in the following :

(1) Developing a perspective on issues of
environment, resources and development

(2) Understanding plurality

(3) Developing knowledge of places and
environment

(4) Understanding optimal allocation of
resources

When is formative evaluation conducted ?
(1) At the end of the session
(2) Before teaching a new unit

(8) During teaching-learning process

(4) At the end of a unit
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Which one of the following was introduced
with the coming of British art in India during
the colonial period ?

(1) Mural art
(2) Oil painting
(3) Perspective

(4) Miniatures

Around 2000 years ago, Varanasi was a
famous craft centre where Shrenis were

(1) Buddhist monasteries.

(2) associations of craftspersons and

merchants.

(3) iron ploughshares used for agricultural
production.

(4) coins that have designs punched on to the
metal.

Consider the following two statements, A and

B, on manuscripts and inscriptions and choose

the correct answer :

A. Manuscripts were usually written on
palm leaf or on the specially prepared
bark of a tree known as birch.

B. Inscriptions were written on relatively
hard surfaces like stone and metal.

(1) Both A and B are true
(2) Both A and B are false
(3) Ais true and B is false

(4) A is false and B is true

Which one of the following was the language
of administration under the Delhi Sultans ?

(1) Persian
(2) Hindi
(3) Arabic
(4) Urdu
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In Buddhism, Bodhisattvas were

(1) Persons who attained enlightenment.
(2) Chinese Buddhist pilgrims.

(3) Buddhist scholars.

(4) Statues of Buddha.

Which one of the following was not the
condition to become a member of a Sabha in
the Chola Empire ?

(1) They should be between 25 and 70 years
of age.

(2) They should have their own homes.

(3) They should have knowledge of the
Vedas.

(4) They should be owners of land from
which land revenue is collected.

The Rowlatt Act, 1919 was opposed because

(1) it gave right to separate electorates to
Muslims.

(2) it disallowed Indians from possessing
arms.

(3) it curbed the Fundamental Rights like
Freedom of expression and strengthened
police powers.

(4) introduced dyarchy in provinces.

Many of Chanakya’s ideas were written in a
book called the

(1) Atharvaveda

(2) Yajurveda

(3) Dharmashastras
(4) Arthashastra

Garbhagriha, the most important part of some

of the earliest Hindu temples, was

(1) the place in the temples where people
could assemble.

(2) caves elaborately decorated with
sculptures and painted walls.

(3) the place where the image of the chief
deity was installed.

(4) the place where religious rituals were not
performed.
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Which one of the following grasslands is the
homeland of Native Americans ?

(1) Steppe
(2) Pampas
(3) Velds
(4) Prairies

Breeding of fish in specially constructed tanks
and ponds is known as

(1) Pisciculture
(2) Horticulture
(3) Sericulture
(4) Viticulture

Bering Strait is a narrow stretch of shallow
water that connects

(1) Pacific Ocean and Atlantic Ocean

(2) Aretic Ocean and Pacific Ocean

(3) Indian Ocean and Pacific Ocean

(4) Atlantic Ocean and Indian Ocean

“On 215¢ March and 23" September, the
whole Earth experiences equal days and
nights.” This is because

(1) Direct rays of the Sun fall on the equator
and at this position, none of the poles is
tilted towards the Sun.

(2) Direct rays of the Sun fall on the Tropic
of Cancer and at this position, one of the
poles is tilted towards the Sun.

(3) Direct rays of the Sun fall on the equator
and at this position, one of the poles is
tilted towards the Sun.

(4) Direct rays of the Sun fall on the Tropic
of Capricorn and at this position, none of
the poles is tilted towards the Sun.
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(38)

Biases, discrimination and prejudices in the
classroom could be avoided by

(1)
(2)

organising a lecture on humanity.

ignoring them, as children will grow out
of them one day.

(3)

discussing different dimensions of social
realities.

(4) handing out the Preamble of the

Constitution.
Teacher ‘B’ is currently teaching a lesson on
history of a region. What do you think ‘B’
should do ?

(1) Highlight the similarities and changes in

different time periods.
(2
3

Highlight identities of different rulers.

Encourage the students to remember the
main features of the period.

Highlight the similarities of the present
with the past.

(4)

‘What is the purpose of evaluation ?
(1) To identify problem students
(2) To rank children

(3) To encourage competition

(4) To improve teaching-learning processes

Historical films are useful in Social Science

teaching as they

(1) concentrate on an individual’s problem.

(2) portray history as fiction.

(3) bring alive various dimensions of a
specific social setting.

(4) have good entertainment value.

What kind of outlook should be there towards
Social Science textbooks ?

(1)
(2
(3)
(4)

As a document to be memorized
As an avenue for further enquiry
As a repository of knowledge

As a final statement
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74.

Tawa Matsya Sangh, a federation of
fisherworker’s cooperatives is an organization
fighting for the rights of displaced forest
dwellers in the State of

(1) Uttarakhand

(2) Chhattisgarh

(3) Jharkhand

(4) Madhya Pradesh

Which one of the following Fundamental

Rights is not guaranteed to every arrested

person under the criminal law as stated in

Article 22 of the Constitution ?

(1) Confessions made in police custody can be
used as evidence against the accused.

(2) The Right not to be ill-treated or tortured
during arrest or in custody.

(3) The Right to be informed at the time of
arrest of the offence for which the person
is arrested.

(4) The Right to be presented before a
Magistrate within 24 hours of arrest.

The Members of Legislative Assembly are
(1) elected by the people.

(2) appointed by the Governor.

(3) appointed by the Prime Minister.

(4) appointed by the Chief Minister.

A coalition government implies

(1) Power sharing between two or more
political parties after elections when no

party has been able to get a clear

majority.

(2) Power sharing between State
Government and Panchayati Raj
Institutions.

(3) Power sharing between government at

the Centre and State.
(4)

Power sharing between executive and
judiciary.
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82,

(1) Geography, History, Politica] Science and
Economics

(2) Politiea] Science, Geography, History ang
Sociology

(3) History, Geography, Politica] Science ang
Environmental Science

(4) History, Geography, Economies and

Environmental Science 79,

The position Paper on Teaching of Socia]
Science emphasiseg

(1) respecting different Opinions
éXamining jdegg and practices,

and

(2) accept socia] hierarchies,
(3) increasing the use of textbooks.

(4) encouraging memorization,

Maps ang diagramsg in a Socia) Science

textbook are relevant ag they

(1) add a new dimensiop tq a concept,
(2) are made by experts.

(3) make textbook attractive.

4) clarify 5 concept,

folIowing :

(1) Solutions tq the movement

(2) Backgroung of the movement
(3) Objectives of the movement

(4)  Problem areas of the movement

(3) Distribution of population
(4) Importance of physical resources

81.
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Which one of the following is not a function of

the Gram Panchayat ?

(1) Executing Government schemes related
to generation of employment in the
villages

(2) The construction and maintenance of the
infrastructure of the villages

(8) Levying and collecting local taxes

(4) Gram Panchayat elects its Panchayat
Secretary

Which one of the following does not fall within
the purview of Civil Law ?

(1) Disputes related to sale of land

(2) Harassing a woman for dowry

(3) Filing a divorce case

(4) Claiming custody of children

Which one of the following statements is
incorrect about the judiciary ?

(1) Judiciary has the power to strike down
laws passed by the Parliament.

(2) The judicial system provides a
mechanism for resolving  disputes
between citizens, between citizens and
the government, but not between two
State governments.

(3) The legislature and the executive cannot
interfere in the work of Jjudiciary.

(4) It plays a crucial role in protecting the
Fundamental Rights of citizens.

The Right to Constitutional Remedies

(1) allows only the linguistic minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

(2) allows all citizens to approach the court if
they believe that any of the Directive
Principles of State Policy have not been
fulfilled by the State.

(8) allows citizens to approach the court if
they believe that any of their
Fundamental Rights have been violated
by the State.

(4) allows only the religious minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

83.
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The ‘Civil Rights Movement’ was started in
the USA
(1) to demand equal rights and address

racial  discrimination for all  the
African-American citizens. '

(2) to demand voting rights of the
African-American men,
(3) to demand social security of the

African-American senior citizens.

(4) to demand voting rights of the
African-American women.

Which one of the following statements is not
true about the Parliament of India ?

(1) In the matters dealing with finances, the
government does not require
Parliament’s approval.

(2) The Parliament while in session, begins
with a question hour.

(3) The Parliament consists of the President,
the Rajya Sabha and the Lok Sabha.

(4) The Parliament in our system has
immense powers because it is the
representative of the people.

While teaching Social Sciences, a teacher must
attempt to

(1) focus upon remembering the details.

(2) focus upon facts, values and patterns.

(3)  focus only upon facts, but not on values,
(4)  focus only upon values, but not on facts.

Suppose the prescribed Social Science
textbook is difficult for the students. What will
youdo ?

(1) Provide a variety of supplementary
materials.

(2) Dictate summaries of each lesson.
(3) Use question-answer technique.

(4) Emphasise rote learning.
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Candidates should answer questions

from the following Part only if they
have opted for EN GLISH as

LANGUAGE - 1.
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J PART 1v
LANGUAGE 1

ENGLISH

Directions : Read the passage given bejoy and
answer the questions that follow (Q. No. 91 ¢ 99) by

inferior in many ways,

And the children, the little children of the
‘ Indian villages, how they tore at my heart: thin, big

occupation and rule, and coulq there be children like
this ? Yes, and millions of them!

91, During the colonial rule, the villages suffered
because there was/were !

(1) no schoolg in the villages

(2) not enough land for agriculture
(3) not enough food for the children
(4)  no jobs in the villages

93.

(1) there were not enough jobs for all
(2)  the trade Was under the colonja] control

(3) there wag a large numper of young
intellectuals

(4)  business was not ﬂourishing
However, the cities were better off than the
villages becauge ,

(1) the Yyoung men were happy

(2) the children, at least, were not hungry

(3) all children were highly educated

(4) the educated youth got jobs

Which one of the following is true ?

(1) The Russian Peasant coulq compare with
the Indian pPeasant,

(2) The Indian Peasants were Superior to the
Chinege Peasants,

(8) The Chinese beasants were better off
than the Russian Peasants.

(4) The Indian Peasant was inferjor to the
Russian Peasant,

The writer believes that a/an should

feel sorry at the sight of these poor children,

(1) Russian

(2) Indian

(83) Chinese

(4) Englishman

The English rule made Indig
(1) technically rich

(2) industrially strong

(3) culturally strong

(4) €conomically poor

e P AN
(1) Indians married young

(2) Indians did not haye many children
(3) India wag full of young people

(4) Indians lived a healthy life



unhappy young men. The underlined phrase
means

(1) devoid of

(2) full of

(3) lacking in

(4) angry with

99. The final indictment was inevitable. What
does the underlined word mean ?
(1) award
(2) negation
(3) accusation
(4) punishment

Directions : Read the given poem and answer the
questions that follow (Q. No. 100 to 105) by selecting

the most appropriate option.

I want to be with people who submerge
in the task, who go into the fields of harvest
3 and work in a row and pass the bags along,
who are not parlour generals and field deserters
but move in common rhythm
6 when the food must come in or the fire be put out.

The work of the world is common as mud.

Botched, it smears the hands, erumbles to dust.
9 But the thing worth doing well done

has a shape that satisfies, clean and evident.

Greek amphoras for wine and oil,

12 Hopi vases that held corn, are put in museums
but you know they were made to be used.
The pitcher cries for water to carry

15 and the person for work that is real.

98. The towns and cities were frothing with

(45)

100.

101.

102.

103.

104.

105.

The poet seems to admire ’ I
(1) parlour generals

(2) field deserters

(3) wage earners

(4) farm workers

What is common between parlour generals
and field deserters ?

(1) Both love to work.

(2) Both enjoy respect in society.
(3) Neither of them fights.

(4) Both of them love fighting.

What happens when work with mud gets
botched ?

(1) Tt leads to satisfaction.

(2) Hands get dirty.

(8) No one pays for it.

(4) It is abandoned.

The figure of speech used in lines 12 — 14 is

(1) personification
(2) alliteration

(3) irony

(4) metaphor

Mud in the hands of a good craftsman becomes

(1) a useful article

(2) an expensive article
(3) awork of art

(4) a museum piece

Amphoras, vases and pitchers are metaphors
for ;

(1) useful human labour

(2) pride in wealth

(3) items of luxury

(4) antique art



